EEEIZEE | 20244E04F24H

FFRIE2024F4R K EBIE

#2138 (Check Item)

#l{E(Measured Value)

BEARE(Maximum Limit)

BVAR 34 052 AR
KR (CC) 242 —
BE(NTU) 0.10 2
BE G B M) <5 5
EVE{EIEEN) fm 3
pHE 6.7 6.0-85
BHREAMEEEmMg/L 0.44 0.2-1.0
KB EE R (CFU/I00=7) <1 6
WEEE (CFU/=7) <1 100
B B AR B SLRR s 215k T2

EEE | 20245045241

#18(Check Item)

& (Measured Value)

R AFR{E(Maximum Limit)

H I 2 057 Rk
KE(CC) 217 -
SBE(NTU) 0.05 2
% (3A5E B i) <5 5
EVSCIEED) = 3
oH & 73 6.0-85
EEAREEmmg/L 0.34 02-10
ﬂﬁffa**ﬁi (CFU/100=71) <1 6
WEEE (CFU/=H) <1 100
Bt HE e RE R RS 11T, TS

EHIZE= | 20242045240

#3218 (Check Item)

#l{E(Measured Value)

BEARE(Maximum Limit)

H A5 30 Bh 053 A I
Ko (°C) 24.3 --
EE(NTU) 0.10 2




% (3A%5 B ) <5 5
SEWIRE) = 3
pHE 6.7 6.0-85
AEARGEMg/L 042 02-1.0
ABEEE: (CFU/I00Z 1) <1 6
HEZEE (CFU/ZEFH) <1 100
=3 EREREBIERZENIBEEL1]-25¢ 3G

BEIZES | 20245045241

118 (Check Item)

Hl{E(Measured Value)

EARE(Maximum Limit)

H T 1 2 054 oE
KRCC) 249 -
BE(NTU) 0.10 2
5 (a5 B ) <5 5
SE(WIRE) i 3
oHE 6.3 6.0-85
HEARBEMg/L 042 02-1.0
KB T2 & (CFU/LI00=71) <1 6
BEEE (CFU/=H) <1 100
Bt B e EIEBE BB 51065 15 HHEE

EEZES | 20245045241

#%I8(Check Item)

#l{E(Measured Value)

B AFR{E(Maximum Limit)

A M 2 055 RO
KB (0) 251 -
BE(NTU) 0.10 2
&5 QR B ) <5 5
EVEICIEEN) s 3
PHE 6.8 6.0-85
HEARBEMg/L 041 0.2-1.0
ABIEE R (CFU/I00=7) <1 6
WEEH (CFU/=H) <1 100




et

HR B RIERER EERIS 1045k

1 2h

EHIZE= | 20242045240

#2138 (Check Item)

#l{E(Measured Value)

BEAPRE(Maximum Limit)

B 2R 051 TRoE
KB(CC) 247 -
BE(NTU) 0.05 2
EECGEEIN) <5 5
EVEEIEEN) fm 3
pHE 6.3 6.0-85
BHREAMEEEmMg/L 043 0.2-1.0
KB EE R (CFU/I00=7) <1 6
WEEE (CFU/=H) <1 100
e HEMe BB EE T _K7E165x 24

BEIZES | 20245045241

118 (Check Item)

Hl{E(Measured Value)

B ARE(Maximum Limit)

H T 1 2 050 RoE
KR(C) 246 -
BE(NTU) 0.10 2
5 (A5 B ) <5 5
SE(WIRE) i 3
oHE 6.3 6.0-85
HEARBEMg/L 0.44 02-10
KB T2EE (CFU/LI00=71) <1 6
BEEE (CFU/=H) <1 100
Bt ERe BB R BT THEE

B | 20245045241

118 (Check Item)

#l{E(Measured Value)

B AFR{E(Maximum Limit)

HR A5 3 B4

056

ARSI

7K (°C)

25.2




BE (NTU) 0.05 2
BeE(fathEN) <5 5
SEWIRE) i 3
pHE 6.8 6.0-85
B A REmmg/L 0.42 02-10
j:ﬁaffa**zi (CFU/100=71) <1 6
WEZE (CFU/=H) <1 100
Bt R RIE B s RIEA915, T 2

BHIZE= | 20242045220

#2138 (Check Item)

#l{E(Measured Value)

B APMRE(Maximum Limit)

B I 25 052 W
KB(C) 249 -
BE(NTU) 0.10 2
FECEET) <5 5
SEEH) = 3
pHE 6.6 6.0-85
B AR Eama/L 0.46 0.2-1.0
KIS &% (CFU/I00=7) <1 6
BEEEE (CFU/=H) <1 100
Bl B A RIE SLRE R - 1% TS

EEZES | 20245045220

#18(Check Item)

#l{E(Measured Value)

R AFR{E(Maximum Limit)

HR i it 2 053 i 5%
7Km (°C) 251 --
&E(NTU) 0.05 2
B E (a8 B ) <5 5
REFIRE) = 3
pHE 6.6 6.0-85
BHEABMEEEMg/L 0.45 0.2-1.0
KB1RERF (CFU/100Z7) <1 6




e (CFU/27T)

<1

100

et

HERBeRERZ ECERE11-25

1t 25

EEZES | 20245045221

#%I8(Check Item)

#l{E(Measured Value)

B APR{E(Maximum Limit)

B I 2R 054 TRoE
KB(CC) 263 -
BE(NTU) 0.05 2
B E (A B <5 5
SE(YIRE) £ 3
pHE 6.3 6.0-85
BRAMEEEmMg/L 043 02-10
KI5 EEE (CFU/I00=7) <1 6
WEZE (CFU/=7) <1 100
=3 HR&EORIEBEEBOK106815% HhEh

BEZES | 20247045220

118 (Check Item)

Hl{E(Measured Value)

B ARE(Maximum Limit)

H 1 1 25 055 RoE
KR(C) 264 -
BE(NTU) 0.05 2
5 (A5 B ) <5 5
SE(YIRE) i 3
oHE 6.3 6.0-85
HEARBEMg/L 0.44 02-10
KB T2 & (CFU/LI00=71) <1 6
BEEE (CFU/=H) <1 100
Bt R A BB R R B 15 1045E THEE

EEZESR | 20245045221

118 (Check Item)

#l{E(Measured Value)

B AFR{E(Maximum Limit)

HR A5 3 B4

051

ARSI

7K (°C)

26.0




BE (NTU) 0.05 2
BeE(fathEN) <5 5
SEWIRE) i 3
pHE 6.8 6.0-85
B A REmmg/L 0.44 02-10
KB EEE (CFU/I00=7) <1 6
HEEE (CFU/ZEH) <1 100
e B GEREE R _ B7E16% it 2

EEZESR | 20245045221

#%I8(Check Item)

#{E(Measured Value)

B APR{E(Maximum Limit)

B T I 2R 050 TRoE
KB(CC) 26.1 -
BE(NTU) 0.05 2
BE (At EN) <5 5
SE(YIRE) £ 3
pHE 6.8 6.0-85
BHEAMEREmMg/L 043 0.2-1.0
KI5 EEE (CFU/I00=7) <1 6
HAEEE (CFU/ZEH) <1 100
=3 HE e RIEEEEEE _K/E75% 24

BEZES | 20247045220

118 (Check Item)

Hl{E(Measured Value)

BEARE(Maximum Limit)

H E T 2 056 TRoR
KB (C) 262 -
BE(NTU) 0.05 2
BE (At EN) <5 5
SE(YIRE) i 3
pHE 6.3 6.0-85
BEREAMEREmMg/L 043 0.2-1.0




AR EEf (CFU/10027T) <1 6
A= 2 (CFU/2T7T) <1 100
et EREMRERIE S8 __RIB4915 Hh2h




